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Which of the following diagrams best
indicate the relation between

Intelligence, Anxiety and Strength ?

(A) (B) OOO

EAF2x6-12+4+2=7

Solve :2x6—12+4+2="7

) 12 (B) 10
(©) 11

D) 9
S, A& w1 8 R, C ¥ @ 8, Al
vasels, cﬁaﬁa% aﬁmﬁ%w}

AT DA R ?

'S is taller than A and R is taller than C

but shorter than V. S is shorter than C, so
who is the tallest among them ?

A) Vv B) C

(C) R ;. (D) 'S

frfRad SR T A Ei 3:ﬁ'{ #ﬁ
o TTQ A T IR ¢
Study the following figure and' answer

the question given below :
[]—> fata wim / Married Peoplc

O — T qiEm d T e wm /

Pr;ople who live in joint family

. /\ —> = fowr / School teachers
N & 38R & 39 ST Y g S & S
agmvﬂauﬁw%%éﬁmaﬁﬁmﬁa%
sk fes g2

. By which letter, the people who live in

joint family but are neither married nor
teachers are represented ?

(A) S (B) . R.

DT

I AE

frfefea w7 #, ©h wee e mn g
e WTg IR A e o e, Rt
T TeU 7T g < &R T ITAMT HTk

T S EehdT @ | 98 WIS T K |

In the following question, a word hag
been given,’ followed by four other
words, one of which cannot be formeq
using the letters of the given word. Find

that word.

APPLICATION

(A) POLONIA (B) POINT
(C) OPTICAL (D) ANTIC

T ST TR 3 S H F 6 A,
<reré 4 ft ot S 1 Fh R 1 4 Fh
| e T Y ) e R T A
6 Tt x 1 ) 7Y A € BB AA 1
W E | 6 T x 4 FH AT AT FAh
R F W TCE | o F 1A A
6 TS T (6 9 YT &), 1 T g I

4 SR e (4 ¥t o @) # R

TE |
ﬂﬁmaﬁtamaﬁﬁaﬁwﬁm

I RETERE R R Ul

A cuboid shaped wooden block has 6 cm
length, 4 cm breadth and 1 cm height.
Two faces measuring 4 cm x 1 cm are
coloured in black. Two- faces measuring
6 cm x 1 cm are coloured in red. Two
faces measuring 6 cm x 4 cm are
coloured in gréen. The block is divided
into 6 equal cubes of side 1 cm (from
6 cm side), 4 equal cubes of side 1 cm

~ (from 4 cm side).

How many' cubes will remain if the

- cubes having . black | and green coloured
are removed ?

(A) 16 @B 8 E‘#
(D) 4
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A puzzle enthusiast - is’ trying to

remember a code to unlock a mysterious

box. He recalls the following details :

1. Thecode starts‘v;'ith'?a;.

25 The code ends w1th729

3. The second digit is tWicé the vﬁrs:t

digit.

4 The third digit is half of the second

digit.

Now, con_sidering these ,conditions, the

enthusiast has narrowed down four

poteritial codes for the mysterious boX.

Find fhe,suitable one.”” . N
@A) 363729 @ 324729
< B 336729

11, Every. poet

st 2 Fromt fog o # 1 o) e
memmﬂmgmw
& s 7 @ e /A e A
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(A) il T8 11 FET FEE |

(B) %aaﬁﬁsé.nagawm%l

(©) Iaﬂ;nﬁq‘lagamm%l

(D) St Frepd [ FTET F@R |

In the question below three statements

followed by two conclusions numbered I
and 1I are given. You have to assume

~ everything in the statements to be true,

then consider the two -conclusions
together and decide which of them
logically follows beyond 2 reasonable -

“doubt from the information given in the

statements.
Statements :

Rl ‘Rabindranath Tagore wrote many

poems.
has asethetic

- knowledge.
[II. Aesthetic is a part of axiological
© study. ;

Conclusions : .

L. Rabindranath Tagore did different
axiological study. -

[I. He followed the base of logic and
ethics.

(A) Neither I nor II follows.

(B) Only conclusion II follows.

(C) Both I and II follow.

(D) Only conclusion I follows.
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9. war wmd foh arpfa (x) & faw e gwST |
(1), (2), 3) 3 (4) & @ B & HA
TS ST R | .
Find out which of the figures (1), (2), (3)

and (4) can be formed from the pieces
given in figure (X).

rqb

X) m @ 3 @
A @ B) @
© 3 D @)
10. =R oot & & gar ol 6 wReRft ¥fie
g YT W Ae w e e e 3 |
Find out from amongst the four

alternatives as to how the pattern woul.d
appear when the transparent sheet is

folded at the dotted line. . o
NI R NE O
ARl REREEEE
® O @ 3 @
A) @ (B) @)

- ©) O D) @

1. AB®WERIC,DF L EBH

AR IAIRDYE E | E, C & 559 K

qafag ?
(A) wh (B) wmf
(C) wfisht (D) - &&

A is B’s brother. C is D’s father. E is B’s
mother. A and D are brothers. How is E
related to C ? }
(A) Wife (B) Sister-in-law
(C) Niece (D) Sister

12. =% fawew gt S Ry o waem 6 oo
B | H1ht frerar-sgeran &t |

Choose the alternative which closely
resembles the mirror image of the given
combination.

REASONING

(A) oVIIVIOS AT (B) oVIViO2AdSI
(C) s1TA20UIUD (D) ¥YEV20UIUD

NPT NTIVE PINVICIATIY S FONYICLNTVL PONPIRTZN

Gl Q5% e

13.

14.

15.

16.

TOVA *F WPOUTNTIOF & DNPOUVEAT SV oS PIWIANTEV,

%mgﬁ@m%ﬁaé'l

Choose the figure which is different from
the rest.

oINS

2 @) @ 6
ww e
) ) D) @)
o S 7 aRE oo 99 € | A S A |
i o § | @ 4 T # W, R g
o & | A9 B Q) SHRA H T wU R
Tt T ST @ | T | fhan € 2

There are twelve dozen of apples in a
basket. Two dozen are added later. Ten
apples got spoilt and are removed. The .

) remaining are transferred equally into two

baskets. How many are there in each ?
(A) 168 (B) 89
(C) 158 } ®D) 79

3 1 TH AHA § TS 30 T F Gy
Toh @S I & ? | e Tedieh 4 T g
1l ¥ § 3 ! fosh T 98 7 S g,
3R Tt § 12 3w Tkt 9 T €, @

IR fope ST E 2
A crate of mangoes contains one bruised
“mango for every 30 mangoes in the crate.
“If 3 out of every 4 bruised mangoes are

considered unsalable, and there are 12
unsalable mangoes in the crate, then how
many mangoes are there in the crate ?
(A) 480 (B) 320

© 420 « (D) 240

| frfRed § @ 9 T freer 99 R

STec] hT Geieh 9 BRI ?

S LS 2.9 3.3@R 4. fyam

5. foam

Which -of the following option would be
meaningful order of the following words ?
1. Birth . 2. Death .3. Funeral

4. Marriage ' 5. Education

(A) 4,5:3,1,2 1 (B)1,5.4,2,3
© 2,3,4,5,1 (D) ks 35 4;.5,°2
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18.

19,

- 20.

(B) a1 atfrewR

(C) v ¥ feg afreR
(D) - 4 Y T 7 SRR

Accordmg to Indian Constitution,

Articles 14-18 deals with which of the
following rights ?

(A) Right to Constitutional Remedies
(B) Right to Equalxty

(C) Right against Exploitation
(D) Right to Freedom of Religion

Prerfiiee § @ 2 @1 R “siatd sf
e S s i g ST g 2 '
) 3if@m (B 17

(C). 257E= (D) 16 3T

Which of the following days is celebrated

as “International Workers’ Day’* ?
A)- 3 15‘ December(B) 1% May
(C) 25%"November (D) 16 August
ﬁnﬁ«ﬂ?ﬁ § @r ﬁw T etk H rﬁ?@
g
(A) 37!‘«'%1’%@3(3) ﬁmqﬁa@:
©) Ritwde (D) efes g

Whlch of the followmg Acxd s present
in Spinach ? "

(A) Oxalic Acid” (B) tacnc Acid'’
(©) Citric Atid ” (D) Acetlc Acxd“ |

' m%v '
(A) " deh Fea fmrg e
(B) hies ATeier &9 AR,
(©) ﬁﬁam%mﬁ&m
- (D) "t fam vag

£ “Soldlerlng with Dignity” is the novel

written:on which of the followmg Indian

- Military Stalwart ?.

¢ mv.ﬂwrcn m PSULATIVR s b‘o‘k‘g‘;"fr ‘ena POVIN

(A) PVC Capt. Vikram Batra % I
(B) ' Field Marshal Sam Manekshaw
(C) Field Marshal K.M.. Carlappa
(D) CDS Bipin Rawat

TIVR CEN PN

mm&mmaamﬁ
mmhmmmw

22.

23.

CNTU VA S Awpe Sy

5

(A) B

(A) Mysuru |
- (C) Ahmedabad (D) Bengaluru

7.40)
24,

YA AN eS

HURH P TP frepr § T dnrerenal
T % fog Fames ot ywmates 2= f
e e & fr=fafaa § @ few daem
F farta A R 2

(A) TR HATTS

(B) NS WATE™

(C) HIINE TTHEA &1 HaTerd

(D) 3maTH 3R E 9Tt 1 HEe
The responsibility of the regulatory and
administrative framework for corporates
in order to make them -effective
contributors to national development
falls under which of the followmg
Ministry of India ?

(A) Ministry of Co- -operation

(B) Ministry of Planning

(C) Ministry of Corporate Affairs

(D) Ministry of Housing and Urban
‘Affairs

Hifoss FEYE T (e fwR)
Frefafea i weifRa g2

(B) T

(C) IEHEETE - (D) RI®

The. Physlcal Research Laboratory (Main
Campus) is. situated at which of the

following places ? .
(B) Pune

I T A n T TR T (SSieE) &
fora @ TREFR? .

What is the contact number. for Women
Power Line (WPL) in Uttar Pradesh 2-

(A) 1044 (B) - 105
114 (D) 1090

‘umwgwa?\qa ﬁwﬁrﬁﬁﬁ%m
TSI HIERR? N
(A) T ®) s
(C) wHAREH (D) 3anfEwm

“Mamallapuram Utsav” is a festival of
which of the following states ?

‘(A) " Gujarat- (B) Tamil Nadu
(C’) Kamataka (D) desha

\ APINTATD Y L EONPSWEATIVR

GL-4



25, frefiRad § @ A @1 5, H5 TEHR A

26.

27..

~_ Which of the following is the highest-

GL-4

- (A) HiEE

- ©

v a1 Rrelta gafkri @ fmfor & sremen
31 SRl ¥ fore foRa ST 8 2

(A) =TT (B) TS =T

(C) T (D) It =
Which of the following expenditure ‘is
incurred for purposes other than the
creation of physical or financial assets of
the central government ?

(A) Tax Expenditure

(B) Revenue Expenditure

(C) Capital Expenditure

(D) Outcrossed Expenditure

maﬁ??rqaﬁtaﬁauﬁﬁ%m fere

TESFTE 9 2
(B) RE

(C) wiieg (D) <&

According to ancient Jain and Buddhist

texts, how many Mahajanapadas were

there ?- '
(A) Sixteen (B) Twelve
(C) Fourteen (D) Ten

frfofaa 3 ¥ B I T2 F Rt a
aéfa%%nmégﬁwmm%(wm
FamEn) ?

A) el (gfrE 3aTE)

®) e (g wE-Fe)

(C) Tt (Hemrsh Ifer ITTI)
(D) wadt (Y areferh)

ranking Police Officer in the districts of
Uttar Pradesh (except Commissionerate) ?
(A) DCP (Deputy Commlssmner of
Police)

PSI (Police Sub Inspector)

ACP (Assistant Comm1ssmner of
Police) '

SP (Supermtendent of Polxcé)

(B)

(D)

28.

29.

(A)

30.
© 5 FHugEe et 4 1922 H amazﬁrr anaaq

- (D)

PN PIVIN TIVR FONVEDLATEV 8 OON PIVLNTIOV R ""‘(\ vdi"*'rsv' CONPIVENTV R CONPOVINTIVL TN PIWINTE VA GO POCTA TR GO I TV R SO VORI TIF R GO P L. AN

6

freffea # & a9 @ FEA @y

wH TE B ?
(A) R (B) Yhedt
©) ), HE

Which of the following crop is not ,
kharif crop ?
(A) Soyabean
(C) Wheat

frfafea # @ S A1 TR IRG
R TS e TEUE & ?

(A) g HTeIR &QUTE

(B) I SUTE

(C) HigH HCTTR

(D) TS A8E SGUNE -

Which of the following port is the largest
container port of India ?

New Mangalore Port

Kochi Port 1€

(C) Kandla Port

(D) Jawaharlal Nehru Port

Srefifaa 3 ¥ 5T Te & S, rﬁaqm

(B) Groundnut
(D) Maize

(B)

e e fea 2

8 (A) =T 1 fasrse
(B) - ge

(C) TeT TSTad T St IS "
(D) SfETETeT ST THER

" Mohandas Karamchand Gandhi called
" off the Non-Co-operation Movement in

1922, due to which of the following

incident ? o

(A) Partition of Bengal EE

(B) Chauri-Chaura Incident

(C) Lala Lajpat Rai Lathi Charge
Incident "

Jallianwala Bagh Massacre

A



31.

e TR wEw A, W aiw g

: 35, ¥ W wMeT (ILO) I @ 4% &
frerforfea o @ forer dm il R R 9 Afaw R ot @ @@ FW F Ry
(A) ¥ (B) s v wETs I JAE | EH Hid
© Wi (D) we fem FW % ferg 2002 7 a1 o % faens fava
The famous UNESCO site Bord ' o ST L s S TS 01
s site Bordeaux, T = T
Port of Moon is situated in which of the T o e il Sy ?
following country ?- () TS (B) 17
(A) China (B) Austria © sgm (D) 2@
" ©) F D) CostaRi The International Labour Organization
(C) France (D) Costa Rica - (ILO) launched the World Day against
- . . 3 Child Labour in 2002 to focus attention
32, IW W H, YA Taaal GUTH QUG o}? the global extent of child labour and
: o) Prefafad o the action and efforts needed to eliminate
(v ) B R it. Each year on which date World Day
=g ? against Child Labour is observed ?
i T (A) 7™ August (B) 1%May
Eﬁ (A) W (B) N (C) 5™ July (D) 12% June
e D
@ . @) 73T 36. Frafafea @ & frm fw aw =1 faum
In Uttar = Pradesh, the Government 3R 'EEH%-:&I@T T TR 3R hTe D
Freedom Struggle Museum (Shaheed PO N ‘
Smarak) is established in which of the e et 1 e e 28
following location ? ' | a1 % &9 1 e R g 2
(A) Meerut ~ (B) Chauri-Chaura (A) THITST (B) IIITH
(C) Ganga Ghat - (D) Mathura (C) o (D) TATESi
: e ' Which of the following special force is
33, WIS A7 & A fhE &7 T PMJAY & mandated as tllls ’elited a_gil.el force to
: A respond to hijacking and similar security
W%ﬁ%ﬁ 202,3 ﬁwm%m% ? situations on aircraft and airports ?
- (A) wEm (B) wEe (A) NIA (B) RPF
© fuam D) Fh (€ Bl i
Uttar Pradesh has recently 'bagged al; . é %3:%{?\?:; 2 o
awards in 2023 for its execution of Frrfefem .
PMIJAY in which sector-? (A) TSRS (SATH)
(A) Industries  (B) Healthcare (B) R
(C) Education (D) Agriculture (C) ™3
— ' (D) AR
e , 2011 % 313 o I T H "~ The Board of Revenue, Uttar Pradesh
Ty formauTa F=n g 2 was established in which of the
ool . . following districts ?
- What is the overal! sex-ratio of Uttgr (A) Allahabad (Prayagraj)
Pradesh State, acco,r(‘img to Census 2011 ? (B) Varanasi
(A) 982 (B) 892 (C) Meerut
(C). 912 (D) 812 (D) Lakhimpur
AN PPN TIVE POAVIVLATIVE AN PIULNTHEVL COA T AT VL CONPOUVLANTVE 0T V:“."? TSVE CONPOULATEVL MO pENTATIIVA 00 UL A TV AN pOUTATIVV L SO h‘\é\{;‘;&

e
52811 fra)




T 3 TR 2023 H, Wi 3R frm T &
Ay A angr g fewr v forn 2
(A) i (B) THFR

(Q) Aurd (D) W
Recently in November 2023, India and
which neighbouring country part1c1pated
in Joint Military Exercise “Surya Kiran” ?

(A) Sri Lanka (B) Myanmar
(C) Nepal (D) Maldives

B & 8, JuEs 7 fefefea § @ fea
Ao RvE & 7 o wRa' 34 @ wh g

fewrg 2
(A) EER (B) E faeeht
RO

(C) 3me (D)
Recently, The Prime Minister flagged off
the new ‘Amrit Bharat’ trains from
which of the following railway station ?
(A) Haridwar (B) New Delhi

(C) Ayodhya (D) Varanasi

frafafea & 3 fFe =g % =t = Aifd

38.

39,

40.

AN g BT R s N

(TEftdt) it vEet e W F qEw wm

Fiferer fwar 2 |
(A) B (B) AT
(C) WENig (D) - ST FA

Which of the following state’s block
secured the second position in the first
delta rankings of Aspirational Blocks
Programme (ABP) announced by NITI
Aayog ?

(A) Haryana (B) Telangana
(C) Maharashtra (D) Uttar Pradesh

HETE? &7 ¥ UG AR Bl
% fau wra g 3&  fpw Mg

aqrqi‘mm#mﬁm%fﬁa'a -Cacke % ?
(A) ITTRIH T80
(B)  ATqEE T
(C) TR JrgaTYn
(D).
Which of the following is the name of
the operation launched by India to
evacuate Indian nationals from Russia-
Ukraine conflict zone ?
(A) Operation Rakshan
(B) - Operation Ganga
(C) Operation Ashwagandha
(D) Operation SUJay o

41.

OO OPVINTIVE PINVIIANTHVE P pElL T, » LAY UL A VR D AP

GL-4

Gellarsy 28 Ullire

42.

43.

44,

45.

(A) Meerut (B) Lucknow
© (C) Prayagrsgj ~ (D) Kanpur

sﬂqa'awamzf%?‘i BERRD .

(A) TR s & Eﬁ‘

(B) XK & T : i

(C) - T&g T& WA

(D) .¥1e 3R fashit

GST stands for

46.

fpefeRaa & @ 8 30 3 2024 1 By
g i wfirer B A FehT A e

(A) FH (B) ¥
(C) I (D) wra
Which of the following country refused

to join the BRICS group in 2024 7
(A) Iran (B) Russia
(C) Argentina (D) India

wicHHMAEG IR TI R Ta |

wror & aTe T feggn man un 7 i
Which denominations of currency was
taken out of circulation in the

demonetisation done in 2016 ?
(A) 100& 500 (B) :1000 & 500
(C) 1000 & 2000 (D) 2000 & 500

I YW H, FEE WY T
fRmg? ‘
(A) ™3 (B) @S

(C) TS (D)
In Uttar Pradesh, where is the Cyber
Crime Headquarters located ?

(A) 'Government Sales Tax

(B) 'Government Service Tax

(C) Gbods and Services Tax

(D) Goods and Sales Tax ,
QU Y gd HRET SHews § 9
foram, st F gq HraTs it 5254
St T ST RS o |

(A) =Y (B) FH

(C) TR (D) fvew

The Prime Minister participated in Sant

Mirabai Janmotsav a program to
celebrate the 525" birth anniversary of

Sant Mirabai in

(A) Mathura — (B) Kurki
(C) Dwarka (D) Rishlkesh
\:8~~ Ve AN PINL NS NACAT A TN A SR AT THYR MANPSTTA TV A A




47, Profen 4o R o o 2

(A) diw (B) FeTerert

(C) wfiem (D) et

Which of the following is the capital of
Philippines ? |

(A) Bangkok (B) - Kuala Lumpur

(C) Manila - (D) Jakarta
48. YR ¥ ‘TP wwmar Rew” frg ol
TATIT T g 2
(A) 26598  (B) 31 3T
(C) 149a=R (D) 2 3TFRH

The “Rashtriya Ekta Diwas” celebrated
-on which date in India ?

(A) 26" January (B) 31% October
(C) 14" November- (D) 2" QOctober

1. Prefifen § ¥ R g dew R

“IYRITH THIE” o A9 & T ST 8 2
L (A) BREw T =
(B) #rEAATA agéél
(©) i ot Brarem,
(D) F¥ftSmEg
Which of the following famous author is
known as “Upanyas Samrat” ?
(A) Harivansh Rai Bachchan
(B) Makhanlal Chaturvedi
(C) Suryakant Tripathi ‘Nirala’
(D) Munshi Premchand

50. & & H, Fom wEieR g Y fr dw @

NP IVEANTIVE STANITLATIVC SANPICTATIFR SONMTVTA TV SAAPOVL AT Va - g oA

9

A

Heiftrd A GG @ T [EHR 2023
Sftar 2 | |

(A) fsrere (B) sfiien

(C) dRerh (D) Fwt
Recently, Chirag Chandrashekhar Shetty

‘won. Major Dhyan Chand Khel Ratna

Award 2023 belongs to which sport ?
(A) Cricket (B) Badminton
(C) Archery (D) Wrestling

-/

Qﬂfﬁv\"r‘ﬂ (YA [ A

S1.

52,

- (A) 9RrorEHt

. ©
53.

54.

SVR e ZAPINIATEVA SO PI VDA TN L “2 s L

R 3 FH AT F R AR 9
(A) fomm (B) W
(C) anfe (D) femrm

What is the name of the lander of
Chandrayaan 3 ?

(A) Vigyaan (B) Pragyaan

(C) Aditya (D) Vikram

B 8 8, e 3 refiRe 1 @ g wm
T R, I % T 93 wdier 3t et
3 [ICC (Ifr) 51 3geme a2 2

(B) wligame

© =Wleeh (D) <@
Recently, The Prime Minister inaugurated
India’s largest convention and exhibition

centre IICC (Yashobhoomi) is located at
which of the following places ?

(A) Varanasi (B) Faridabad
New Delhi (D) Chandigarh
Frafifea 3 @ 37 @1 wra o qfm =
e g R 7

(&) gt gfem e s

(B) - WEER I

(C©) w=h

(D) WHIR I

Which of the following is the highest

.. honour for Police in India ?
~(A) President’s Police Gallantry Award

(B) Mahavir Chakra
(C) Padma Shri

(D) Param Vir Chakra
g e Yo § ve AR FaE,

3. & A0 @ THE1 ST AT, HT T TEABT
X femm |

(A) T B) fem

(C) aAige D) fa&e

In the social media network -formerly
known as Facebook, Inc. was renamed to

(A) Meta
(C)  Orkut

(B) Bing!
(D) Twitter

TEVA QA PSTTATI VR O e LN -

GL-4



55 ‘wael PR AeE TR F @A TIR? |67, ‘éﬁa‘m@a’ﬁz-ﬁ@amz‘t’m
(A) FH+ @ (B) W+ T3

(A) ™A (B) @A . .
(C) AT (D) diaen (C) H+% (D) F+H

s6. ‘@ frefafea § @ fFE W |68, frefafea 3 @ 3 & faaw g g 2
wafaar & 7 L A : @) - (©' @D «
(A) T (B) fe co. Freffaa § @ w1 @ fadw den A
(€ Tt (D) &R P v

57, T e fm A AME g FAE | (A) =3 (B) T

e & T T B AR ? (€) c@H@ TG (D) A
(A) TR (B) JTged 20. ‘g PrEfEmR € 17 W 9§ 39 @
(C) Zeurd (D) FEgH R o _

(A) Jumds frar (B) g foma

58. fpa faeca § weg gfagw fmmefs
iy (C) ga=iteras a1 (D) ey feman

- TE @ ? . .
(A) ST-50 = -arg! 71, “ofan we M W@ # |7 78 91 5
(B) g-AR = -qrt FAFRR?
(C) ¥ d-af@ = -3 (A) e adaTH
(D) ™-T = TRf-Am (B) M ST
59. ‘RegH GeH A YHW T W A H (©) m(:g)aéum
fore YR hl TG R 2 y (D) ¥
(A) FRFFEfl  (B) FREER (72, “megd g0 I3 W@ T T @ A A

. ar=a =41 81 2

60. TrefRaa i & e 7 w1 g g € 2 (A) FHARE T (B) FgarA
(A) WEHEFTW  (B) . Afedl F AW (C) wHHar=A (D) wEET=A
(C) wmeiidam (D) faR@iFam |73, ‘feow s ger @ o Frefafea @

61. Frefefaa # @ fe w2 %1 W@ THa=A FAHIR?
A2 ? (A) ¥ (B) = S
(A) TEIER (B) TW-%¥ (C) S @A (D) I BISAA
© @ (D) - |74 afE TR em IR R R 2
62. ‘e HU2 U ¥ | Y@ifhd g H HH (A) 3EhE (B) FcHd
S i © faa (D) w
(A) INFTIFE (B) HICH Fh 75. frafafEd feea d @ ™ die 2,
(C) FaiHR® (D) HdHRH a1 999 HIfAT :
63. ‘T TR AP ATAIR ? (A) J R & S T T
A)d @B)H (C)T (D) ;N (B) 3@ 9w |
64. ‘T VI W U g 3N W P H | (C) 3T &1 |
AR ? (D) H3gaell gHT
(AY WE+T  (B) W+ &R e 1§ e e
(O T+T (D) W+3Ime 7 %mujﬁv bt ¥
B ¢ A""_)"!Eg! ";Tiﬁ?;‘mf? o W9 ®13 (© 10 O 1l
(©) (D) TS T 77. Trafafge & @ devas w&Em w0
: I HH AAG R ?
B omowomom | o o
| e ' e

V=S 235U ra—— L




78.
T BN W aeHR R 0

(A) 39T (B) fodemyma
©) 3=\ (D) ww
%&%ywﬁmﬁmmﬁwﬁ
(A @®B)w () RE D) ¥

79.

80,
?aawglg? |

- (A) - (B) Fusforat

C) w3 ghefifereht
Frefafes Taw A e © T F sw
QRN ; (. F. 81-85)

* fift @R & @ FA € - geF W 3w

(A) m:@azmgﬁgmm
W (B) - HWF H g T
Ig‘,'g (C) T 35 & e g
(D). SM B F ST et TS =t
2. T UTCH 1 SR WM Gfa & w1 Q off
| WEW R, A | |
(A) SHI % S Y o I Te-3a7
ﬁﬂq& AR |
(B) <hTH HI |
(C) - TTeft 39+ % H Fuwr F *,
Torg wfva foems s |
(D) AR 3TY HTH B HIeTdT A H: |
s BifeT |
'?Eﬁmﬁﬁmﬁuﬁsm(m T Y afgar
© 3= . (D) ®R-ig

81.

82.

83,

CONPIUINTIVR CONVICLATIVL CON PECLNTOVE CONINTATIVE CTNPIVTNTI VR PON POCTNTETR T PITINTEVA &

alaxyiS23 1 ltra

TSt T~ 9 e o @ R 1" v i |

8 IR e B H o A Bemy AR AT

- {90.

11

34,

85,
e e A 7w o @t @ e S |

86.

87.
88.
A e

89.
A TR

91.

92.

TS ST T | ,

e e o &9 e Wt @ fre # S

IERERE TG E 8

(A) efte e # 7w W@ <« @ frera &
IR FFmFRE |

(B) e fam ¥ 7w e @it & frerd
IR ERE R e ek ok

(C) eF Sfaw & &9 fafts wom & &m0
HA I AR e § |

(D) e Sftaw # &w W o ot A

PR N R RE RS s § |
R TR T vt e = g 2
(A) EE= (B) TS =T
C) T (D) fafm
TR Ff F H TR dwmE o
(A) ™ (B) Wm
© (D) =E™
e R m e i ey
BT ? .

(A) IO¥w (B) &

(C) wrTeft 39yw (D) T

“fiew’ 3R ‘aTeC 78 Fra Rrar-Ren %
IIAEE ?

(B) M=%
(C) dvRAWEE® (D) SeEEH
‘ﬁa’wwwha@ﬁqﬁ.éﬁ?m%?
(B) Wy

(C) TE (D) g

S R W= =1 o
T

- (A) Yiaa-fema (B) sw-fEm

(C) w-Mawt (D) FFm-=w
“ehehY TETT W 1ol SRATY I &
o1 Tk weg 1 =T IR |
(A) T (B) =
(C) wrem . (D) I
THE & EWRATHH § 2
(A) iR (B) WMUIWE
€) SR (D) gewieE
DA PECTATIF R @00 BOULA VR AN PITA TR AN N&E:Z



. 93.

94.

95.

a—

WiﬁﬁﬂQ: X

Simplify ' 108 + 36 x > + 2 x+
475%%

(A) 6/5 (B) 17/20

(©) 45 (D) 15/21

T T AT

5,061 +3.98 +0.7034 + 7.6 +0.3 + 2

Evaluate :

5.061 +3.98 + 0.7034 + 7.6 + 0.3 + 2
(A) 19.6440  (B) 19.6467
(C) 19.6444 (D) 19.6476

T B T S T Ul o R SR et
4,10 R 12 F QI & fasrsar 2 -

wro

108+36x"%+

. The least number which is a perfect

96.

97.

(A) 40%

98,

square and is divisible by each of the

numbers 4, 10 and 12 is :
(A) 2500 (B) 900
(C) 1600 (D) 400

Qe 3:5 % oA A § | af e A

6 g fear wu, | 98 =€ 9:17 *
T 8 8 el € | BT wE @ |
Two numbers are in the ratio of 3:5. If

6 is subtracted from each, the new
numbers are in the ratio 9: 17 The

smaller number is
(A) 20 (B) 40 (©) 24 D). .12 -

afg A, B &1 250% 7, I B, (A+B)Eb'r
TeramT ufwa 8 2 :

If A is 250% of B, then B is what percent
of(A+B)?

(B) 28;%

(©) 66%% (D) 33%% _
TE 323 4§ L
(A) HIE FUT HES Ta1

(B) ¥R 3 UHEE

© 'C'{T W'{IUH'@@

(D) F IV UHES

The number 323 has

(A) No prime factors

~(B) Four prime factors

(C) Two prime factors _
(D) Three prxme factors (3

v,

NSV

SNYA PN POV NTI TR SN PTANTS

PONPIICNTIVE 50N 9 VELS ATFVR SN 9

"~ GL-4

12 .

100.

101.

FANDELL A TIVL @

fafi aftt dm % A= ¥ 1301 T ey
iR, wifes 7 3l % e ffe =t Tfin, 9

¥ e Ay <) TR S TR B, B 4%
¢ € = & gara S & | fifw

e a8 2 |
Divide ¥ 1301 between Mihir and
Diptesh, so that the amount of Mihir

“after 7 years is equal to the amount of

Diptesh after 9 years, the interest being
compounded at 4% per annum. What is

part of Mihir ?
(A) %676

(C) 653

a1fides, feer ot =g it & Wit
B 8 | aIfees, fome % Few | 3
arfires e e 2 3R fome, =g g
R R feaFag I €%

(B) nzoE"‘g
(D) %616

st &, afha @ 2 5,500 % | R
fewa fopa 2 2

" Abhishek, Bimal and Chinmay enter into

partnership. Abhishek invests 3 times as
much as Bimal invests and Bimal invests
2/3 of what Chinmay invests. At the

| ‘end of the year, the profit earned is

% 5,500. What is the share of Chinmay ?

(A) 2,500 (B) 31,500
© 1, 000 (D) ¥ 3,000
T T T g T 25% S AN W a=d0

2 | afe 39 T/ 20% HH W G BT IR
T T 12.60 FHH T o= 8T, a1 38 30% H
ST BT | g T 5 oA I <hit |

A man sells an arficle at a profit of 25%.

If he had bought it at 20% less and sold it
“for T 12.60 less, he would have gained

30%. Find the cost price of the article.
(A) 360 (B)T50 (C)T55 (D)T45
naps \-_.’\ =YY O :A. =5 Va U PIATA TR k\w_-\;x.-nA.



00 % e o m w3 |y,

g'ﬁ&mgsﬁﬁg:w“ ) ﬁ‘;ﬁ:g%;;;%ﬁn%f@ammw
a%é 8 > .

AN A i W G A b o G
il Ao § | [T 8 At ot gefd Jafigad

T 1 R s By | W t H@rﬁwaﬁmﬁvﬂvﬁat?ﬁ #

Moha : . Nos. . .
piece nofal\:/dorlihf}"am undertake to do g z?nswg: thlcmutc%tilolr}s ; Sty the followng tbls and
candoitin g g 00 Mohan alone (Number of candidates appeared and qualified
= can do it in 8 ays Wh‘l_e Shyam alone |IN 8 competitive examination from different
- n 8 days. With the help of states over the years are mentioned in the table.

Ramesh, they finish it i :
share of Shyam, B Hindile P StE 2001 T Yar 2002
0
Eég ;gzg (B) %300 TR/ | o/ | A/ | @A/
: 25 (D) Z250 — A;)é) Qual. | App. | Qual
3 00 700 8300
103. 15,20,25,....,135 S d= e ve § 9 g 7500 | 5500200 Tooo
How many terms are there between ¢ 62004 1501 8600 | 1000
15,20,25, ......,135 9 L 8000 9601 9600 1250
(A) 26 B) 24 860 7700 950
(C) 25 (D) 23 =g / T4/ Year
y - State 2003 2004 2005
\ 104. TF T SATFA S 36K 1 % Rraht yomait o /| St/ | o/ |<eA/ | S ) | 3 ]
L F1 iy - : App. | Qual.| App. [Qual. | App.
f N Rk 'ﬁ'i' 3% | 909 T &6et 600 m?2 72000 5001 300] o0 Sena] 1100
/ . g | I I FISTE T Hifv | B | 8400] 950] 9500] 950 8600] 1000
. 5 4 C 7600
A fawn i the form of etanglehaving s | [~ |3q00 100 00l 1101 sogo T
s1 665 n 5 € ratio 2 : 3. The area of the lawn E 9600] 1300] 7600| 940 7980| 880
is 600 m". Find the breadth of the lawn. 107. feuw v ol % R U9 D F Uiy gF
& om @AM o w st
: 10 m . ;
: What is the average of candidates who
105. TH 'FITE'mfT =TeTsh 900 X Y <t 2 firre appearge(c)i from state D during the given years ?
30 ¥%E & T4 - (A) 9010 (B) 8730
. ﬁ“ﬁa;“” B | WTERAeT e A (C) 8980 (D) 8110 )
Foefferet H it e 2 9 108. 2003 F Tt Uiy T & TG IR
A cyclist covers a distance of 900 m in & o wed | it Iefieamd it F
- 2 min 30 sec. What is the speed in km/hr AT 1 FTAI Sferera e &2
of the cyclist ? The approximate percentage of total
(A) 87 (B) 216 nun}ber ot;) qualifﬁed candid ates (;od the
: : : total number of appeared candidates
(©) 186 (D) 1.67 among all the five states in 2003 is
106. <19 TE3 # & gEd, Teel & A B 3R (A)18% (B)15% (C) 16% (D) 12%
L I — 2001 & T+t T @ Ietol I=fieandd Al
| a‘ﬁ?ﬁq’l—‘ﬁ%'ﬁﬁ 3t 1 e, 2002ﬁa‘-ﬁrm7§3?ﬁvf3t=ﬁ§g
3rErd 66 2, <l TEd B HEA A it | <1 et T T ST feheT o @ 2

Total number of candidates qualified

Of the three numbers, second is twice the : A
from all the states in 2001 1s

first and is also thrice the third. If the approximately what percentage pe- g
] " 3 e

average of the three numbers is St total number of candidates qualified from

the smallest number. all the states together in 2002 ?

(A) 24 (B) 54 (C) 72 (D) 36 (A) 82% (B) 76% (C) 80% (D) 71%

axlaxy @?@{@ o e e

—



110.

111.

Ry o & & P 1 € 3 3R

B T Iefigard # wen § 3ol
Iefigamt 1 e arfreran & 2

In which of the given years the number
of candidates appeared from state C has
maximum percentage * of qualified
candidates ?

(A) 2005 (B) 2003

(C). 2004 (D) 2001

ol =6} % I T B A_JR Y T

" e 8 e ¥, e it Ry T B3
i ik

- 113,

~ who can spe

113.

PENPEULNTEIVR PON VEVLATEVR O\ PICINTIVA OTN

GL-4

- (A) 12
114,

"cA> .(B)OOOA |

1A wferarer fe & 2
What is the approximate percentage of
candidates qualified from state B for all
the years together, over the candidates
appeared from state B during all the
years together ? -
(A).16% (B) 11% (C) 13% (D) 8%

TR T I FHE AT IT A 6 TE=_=

H A HH Y FA 9T e g § |

Study the di:ﬁram and identify the people
at least two languages.

37t / English

oo v Wﬁ / German

8 Koo B EIRIST
IR - T AR, + F AT TN, o

- HFd TR  FI AT, WM

18x36-6+2+3="7
If ‘=’ stands for division, ‘4’ stands for

-multiplication, ‘+’ stands for subtraction

and ‘x’ stands for addition, then'
18x36-6+2+3=7" '

@18 (C)8 D) 3

78 3 ow o S P ¥ o dey w

R I S

Sl

CEoo"se, the Venn diagram which best
. explains relationship among the given : - -

‘Human beings, Rats, Doctors

© @ (D)

116.

1117,

118.

BOWEANTS el POVIATIFE CON PIUVENTEVR OON PITTNTEIVE CON PICTA TISVA QO POCTA T VA QNN PRCTA TIVR AN BTN T VR

N

14

118.

Preffaa v #, o W R mn R,
Fu% ag W e iy e &, R & feg g
TeE & e T ITANT FH T WG AT

1 FehaT § | Y Weg I HI |

In the following question, one word is
given, followed by four words, one of
which can be formed using the letters of
the given word. Find that word.
DETERMINATION

(A) TERMINATED

(B) "DECLARATION

(C) DEVIATION

(D) NATIONAL

e B | A § T AR e §
oy T R T 2 T R MR
HT 7

Which one set of _letters when

sequentially placed at the gaps in'the
given letter series shall complete it ?

P RSQ RP_QR_QS_PP.RS . . -
(A) QSPSRQ  (B)' QSSPRQ
(C) QSRSPQ (D) QSPQRQ

faw e fredt § ¥ g o R g S

- ST R

Choose the correct alternative from given
ones that will complete the series: -
98, 81, 64,47,30,(?) -

(A) 17 (B) 13 (C) 15 (D) 11" :

e frpedt # @ & E R (X) B E@
T B g |
Choose the correct mirror image of the
given figure (X) from amongst the four

alternatives. . '

' ‘ @) <’O @)
242 1020%
X) m @ & @
A B © 6 DM




119.

120.

121.

BGEK : AGDJ : : ppyj .
(A) CAGH (B) Eé(IJ?)
(C©) HGCB

q ST ST 3 e Frer & 9
OW many tria :
following %’gme r?lgles are there in the

(A) 23 (B) 21 (©) 22 (D) 20

T A6 TR Y 9t Y 3 6 Rt o
2, 5 T e 2 ok 11 et e 2,
TR 2 e @ af 12 Rl o 2, R
T TEA R 3R 12 Feeft =remen @, Rt
TS 8 3R 6 Toeft 5o 2 | 9 =R oy

- WAfTFR @ wR

< (A)
1 (€). 12 km

122.

(C)

- A person moves from home position

1 fedfy
12 fomedft |

(A) ‘(B) 23 f&dt

(D) 17 Tt

towards west by 6 km, then turns right
and moves by 11 km, again turns right
and moves by 12 km, again turns right
and moves ‘by: 12 km, again turns right

and moves by 6 km. How. far that person
is from home position ? '

Lkm . . (B)#23km . .

D) 17km

-
5 o)

= R e e #, o e g

2,30% w1e fer & v T wedigm

e M3 | s 5 I AT %ﬁwﬂ
| s

Hﬁl:@l"{q : A O B ‘ '“’.

(A) IR HEW (B) SR we

“(C) 7 : T

In the -below given question, a:pair of
‘words is given, followed by four pairs of
words ‘as alternatives. You are required

- to choose the pair in which the words

have the same relationship.
Gland : Enzyme-
(A) Brain : Cortex

- (B) Generator : Current

(C) Organ :Kidney
(D) Muscle : Spasm

(D) umﬁsﬁia—:r

)

123, = feu 1oy § us wue 3t g e |

I, 111 3R 1V shwifhd =) ad et & |

AT T8 qF H B R B |r/A Tk

e e v Al

proi

ferepeatt & & aroe IO | -

FYUT : F 14 T8 B Y 7 F 9t 7=t

?*%Qﬁmaﬁaﬁwawm?

I & | 8 e | 69 4
ST ! TeH 1 T gee frenf |

I & | a8 Juut S 5 Rl 5
1 T TTE Tl R | |

T | TR I I a5 Rifer

;@%ﬁmm‘g’ﬁw@ﬁmqﬁ

|

Iv. & | 39@ Sfem = i 9fg 2y

(A) e 13RIV A=gq £ |

III.

(B) HadA I A9EH R |
(C) HAIMRI TGS |

(D) IV HATEA R |
Question given below consists of a
statement, followed by four arguments

numbered I, II, III and IV. You have to

decide which of the arguments is/are
‘strong’ argument(s) and which is/are
‘weak’ argument(s) and accordingly
choose your answer from the alternatives

- given below the question.
.'Statement : Should education be made
-~ compulsory for all children upto the age

of 14 years ?

Arguments :

L Yes. This will help to eradicate the
system of forced employment of
these children. '

II.  Yes. This is an effective way to make

the entire population educated.
No. We do not have adequate
_infrastructure to educate the entire
population.
Yes. This would
standard of living.
Only II and IV are strong.
Only II is strong.

Only I and II are strong.
Only IV'is strong.

III.

increase the

PANPIVINCSTL PONVICIATIVR SON PSTLNTIV . OO UAIA T VR PO POUENTE T CON PN IVl CONPIUTNTI VA OOA POCTATIY A S5 I ATV a FONPITTATEVR SO WOVIANTEVR

A

15

GL-4



124. 2 feu 7 woa 9w Fuq 3R ITH

1 3R 11 Foifera Q) urond & € | sl | @,
FuA 3R Fefafea wwons w R (L IqU (a) H, Ty Sifm Aot H Than
m(g)am?’hém%%_g%ﬁ:m ch el Eobr kRt Qi
o (V) U= | rafifRa 2/2 | 2}36‘165%313?9193?(%2:1
W%q;wag;mﬁ/umééwas g;wm§mﬁ & fee
MR e Gisi| ST HEhdl & |
a@-‘mq%-mmﬁ%m IL. m.(d)’"?’ﬁ“?“”%‘g’ﬁm
EEFiicr kRl ﬁﬁiﬂﬂ%ﬁﬁwm;;‘g
15.”[“%1:1* el T 2 | %%mﬁgﬁ%mhmm%l
I %, 4% o 7ls ol a0 4 mm%@%aﬁq glm
RUECE éman&ai(qam‘)m%ﬁt?«:ﬁw
(A) FRIARAA 11 3@l R | mm yal  (dfdEdi) F FER W
(B) et YRV 11 STafHfed @ | T/ R @ for O % | S
(C) 13N 11 3Hi sfafifea & | frfefad weis 99 1 Sed ¥ ST
(D) mmlmﬁ%aél T 3R T o o 7 T R | 78 ft 7
In the question below a statement (frea) a9 | T, 2006 H i@ /T E |

followed by two assumptions numbered I Q. Nos. 125 to 129 : Study the following
and II is given. You have to consider the |i ¢, mation carefully and answer the questions
statement and the following assumptions |oiven below :

and decide which. of the assumption(s) Eollowing are the qualifications for post in a
is/are implicit in the statement. reputed company.

Statement : “Do not enter — avoid the [The candidate must-

risk of ‘getting infected with the ABC (a) bean Eniineering graduate with at least
disease” — Written outside the quarantine 60% marks.

ward no. 4 (meant only for ABC disease) (b) be not less than 21 years and not more
of a hospital. : than 25 years of age as on 1* May 2006.

Assumptions : (c) have passed the selection test with at

I.  Discase “ABC” is contagious. least 55% marks. .

II.  All the patients in ward no. 4 suffer (d) be willing to pay a deposit of ¥ 50,000,
to be refunded on completion of training.

from disease ABC. However, if a candidate tulfills the above

, (A) Neither I nor Il is implicit. e swnt Sop. S n! g $ o
(B)  Only assumption Il is implicit. In l ?\et (:(l:)nabgsé {)(Ste ﬁas.appeared for the last
(C) BothlandIlare ’"!P‘.'Cl"l. . semester examination and has obtained
(D) Only assumption I is implicit. an aggregate of minimum 65% marks in
. 9. 1259 129 : RefeRed ST/ 1 AAgES firh SEyEnE ey il Uy ca ey be
N ¢ A ident ¢ company.
MW @ﬁaﬁéwm%m 1-.% | II. At (d) abc;_ve, ?ut is?wizllin% to pay an
RIRIESERE 33'6‘“& amount of at least 5,000 and has
i &t - obtained at least 70% marks at Engineering
(a) F9 ¥ FH 60% 3(hi & ATy JeffAaia degree, the case may be referred to the
T B =R | General Manager of the company.
®) 1 w2006 T W A T 21 a5 3k IR each 5)2 the following questions, dcsletails%of
) the candidate are given as regards his/her
faran 25 aém@mm%q I candidature. You have to read the information
(c) FH 8 FH 55% 3Th] & T1Y 99 qlar provided and decide his/her status based on the
Sefiot @ =nfyw | . cond.n(tiloéw \%nven above and the information
d provided. You are not to assume anythin
(d) ;3_? ,000 ﬁm glill 1 ST I 4R other than the information provided in ez)l’c‘:}l: ogf
3 a”gql’ 201 o IT I the following quefhi?\rl}s. Il these cases are
N ‘WNIQ’“ - given to you as on ay, 2006.
G[,-‘.‘ v -\'-,\'vv. TN ATIVA S A MTATATIVA TN BT ATV A FAA BT A TIVA CAARMIT A TIV A SAN BIRT ATV A S5 A4t T A T A AN Y T A TY VA AN v T AT
16 A

PN | e ) S Ty



1285

ot 1 T
wﬁmﬁzlmﬁ{;&? e
g o s

= T8 & 66% 31 T
Y™ T F

F T H 2 50,000 ) 7Ry F7
R |
(A) w0t e =) St s |
(B) = & fopn e |
(C) TRIHEY= = W S |
(D) = foran < |
Diptesh has appeared for the Ilast
semester of engineering degree exam and

. 1

- 1s hoping to score at least 80%. His

1t aggregate

_ Score upto first seven
semesters is 75%. He has just completed

21 years of age. He has scored 66%

-+ marks in the selection test and is ready to

(B)' Not'to be selected.

- pay an amount of ¥ 50,000 as deposit.

(A) To be referred to Company President

(C) To be referred to General Manager.

. (D) Tobe selected.
126. T 66 :
o A AR R | i A Reft e
[ W % I 3 BreA § Rwar & any

o (B) T TR o A |

\ .
N7 9.

i (C) - T F e |

TR 68% 3 F WU 2003 § I @

T o521 R | 38 60% 3iehi & T =

T SR ]| 58 750,000 s

11§43

TR 1 ST - | v

el SRER, 19823
i&ﬂ""ﬁ"

D) s RememeT )

. Mahi is an IT engineer passed out in

2003 with 68% marks. After getting the

engineering degree, she has done MBA

. with specialization in Finance. She has

cleared the selection test with 60%
marks. She can pay the deposit of

- ¥.50,000. Her date of birth is 15%

- September, 1982.

(A) To be referred to Company President.

2 ~ (B) Not to be selected. .

s’

Wi (C) To be referred to General Manager.

(D) To be selected.

127.

128..

gden # it gan & 3tk afomy i et
? | 387 IR TTq AN H @y # yom
goft giftret 6t I8 T € F 22 " A
W A R | IA T F w9 H T 50,000 FHY
aift 7§ Tl & YA FA F FE rEn
TE R | A 58% 3 F WY =T gl
SRR

(A) T IqaraR |

(B) UETYEYS ! WS ST |

(C) ot Mférde =i Ss e |

(D) == fomam wmam |

- Shyam has appeared for the last semester

examination of Mechanical Engineering
and the results are awaited, He secured
first class in each of the first seven
semesters. He has recently completed 22
years of age. He has no problem in
paying the required amount of ¥ 50,000

as deposit. He has passed the selection
test with 58% marks,

(A) Data inadequate.
(B) To be referred to General Manager.

(C)- To be referred to Company President.
(D) To be selected.

S Y 9@, 2005 ¥ 79% It ¥ =
Hipet FeET H faft ow Hit | 57
w1 wlan § wie g, ™R s 70%

- 37! & Ty It TR | SHY Sty 28

4, 1983 8 1 98 T 50,000 <7 Y Rufay

& ], AT 9 % ¥9 ¥ T 30,000 F

A i Sl STeT St |
(A) ST IR |
(B) =5 &l fohar smwm |

.. (C) RIS Y ST ST |
s (D) =& TR S |

Shreya has passed out Chemical
Engineering Degree in June, 2005 with
79% marks. She appeared for the
selection test which she cleared with
70% marks. Her date of birth is 28" June
1983. She is not in a position to pay
< 50,000 but will arrange to pay T 30,000
as deposit.

(A) Data inadequate.

(B)- Not to be selected.

(C) To be referred to General Manager.
(D) To be selected.
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gofiferr 8, Rrem 2003
forerr T gefaReRct o

¥ 21 o 1 3w & areet feft wdem
£ | 3 Rt v F 76% i IR T
e i 72 37 ST R | T8 STk ¥

3 7 50,000 36t TR BT YT T FEHA € |

(A) m&mézﬁﬁmmn
(B) = TEl fpan Sm@T |

(C) WEIIEYe I Wil ST |

(D) =& fepan @ | '

Nilay is an’ Electrical Engineer, who
passed out his degree exam in 2003 at
the age of 21 years. He obtained 76%
marks at degree exam and 72% marks in

the selection test. He can pay the amount

of T 50,000 as deposit, .
(A) To be referred to Company President

" (B) Not to be selected

(C) To be referred to General Manager
(D) To be selected ;

130, 3T T R T % w9 F A 8
o Safrq Tt 3779 UTE 7T @ 3R HEAT

- 2 fp s 23 T 9 AU T &

o 2 | e B PR S

agﬂﬂ,m: '
(A) frvert & forg Rresrera &1 7 991 %
9T ST AR | .

®) R w8 @ R o |

T ot 1 99 HET A1RT
(C) Teuiia Sl HHAH % Y F FREAR
 HETEIRY | . :
(D) * 79S0T BT AHAT Gt Hish AT HET
91igT | o |
You are stationed as a police officer; a

distressed father approaches you saying
his 23 year old daughter has eloped with

“her boyfriend. As per Supreme  Court

directives, you should : :
(A) refer complaint to village council
- for settlement. ,

(B) support reconciliation

.-~ criminal charge if consensual.

(C) arrest the boyfriend on charges of
enticement.

(D) file a
investigate.

without '

kidnépping case and

131.

©

132.

- (D)

3R et . Al @ &
ymfRal 1 A @ T ST-enfif;
IR F R § Gk TR frerdt @ |
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STFER
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SIS Y G FR () IR Gl
TR &M ST =TT |
You are stationed as a police officer;

you receive intelligence of an inter-
religious couple facing harassment

(A)

(B)

(D)

" threats from fringe outfits. You should :

refer them to protection officers

(A)
- as per procedures.

(B) counsel the couple to avoid public
interactions. -

(C) suggest their voluntary physical
separation. .

(D) provide - security cover and safe
transit for the couple.

31T T gfoE ARt % F9 A ¢ E;

YEE & @Y 9 foEg H et Suf

sy Gel 4 S GATE §G B HI
qmehl €1 R | TR ¢ N,
(A) 3 TS FRAE b fAC FAA
-, 3R o oA AR |

| .'('1_3')" quERE! % o9 fyag Y 41

% HErEEr S I |
(C)- TEwqul gFHTEl el i TG
¥yl F1 qeigEh UehAT =TT |

(D) @R @ gufedl % fw afeEm

 Yarait @ qid FIReR ST =17 |
You are stationed as a police officer;
agitated labour unions threaten to stop
essential services over wage disputes

with management. You should :
(A) impose fines and charges for

illegal strike action.
(B) assist dispute resolution dialogue

between stakeholders. :
(C) forcibly stop attempts to blo
critical infrastructure. 8 = %
arrest union leaders immediate

for disruption threats.’ '
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(A) “ﬁﬁﬁa‘ﬁﬁam@g‘ama
| % (STEaT) 1 EHR I o

I
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< fore sftrerg & = |
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You inherited . investigation into
corporate fraud by an industrialist who
then offers a personal seftlement and
closure help. You should :
secretly accept settlement while
declaring case closed hm

(B)
)

(B) commit to investigate 'the fraud
. fully and impartially
(C) avoid examining any further

witnesses or records
D)

" evidénces under legal scrutiny

T T g sl % w A

L SR T 3T genatt Y

m: _ Ll
_ ST % A W
STEINE U Tl LI HHT AT |

FHTHT =fRT |

- © AT TEIH T ITAN

S R 1 2T JIEA (@
ST AR | - ‘

. (D) Tws sy s o wft

<t & qodTes S =R |

.~ You are stationed as a police officer; to
. solve a series of undetected homicides in

- ®
©
#8-D)
g@@;@ﬁ%u AN PICTNTIV N O

your jurisdiction, you should :

(A) study behavioural patterns through
psychological profiling
complete DNA profiling of entire
regional population ,

data mine CCTV cameras using
facial recognition scans

question all existing convicts
with violent crime history

ST

_partly deviate from incriminating -
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19

- (B

©

135, a9 U urofio gferd =Y § gE-fEee

% | 39 e uf= adl @ 3 == 8
R § ol wrfg @t st gomEs %
Y AT =D drHd & T B |
BT, Waee & 0T, TTIH! T TE0
yfera R # Tt @ fean s € 8t
arTaeht fafs wem <t gaEnat T S |
et ggar 2 | 319! ol 2 T a8 '
e 3 Tt TeTa 2 | ST

(A) TFTGU &t Af=a1 & FHR F
Tfge 3R See & T BIE W
99 3T 6 Iufie HET =07 |
TG % 3794 HIE & fawmE &
e 5 & ®9 U WiHR HE 916
3 gg ! w8l FHfadi & fog Tan
HET IET |

freft a1 T R W TR
&) gin HEHT e F& AT AT
1 31 Bl 9 @ g9 |
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You are a sub-inspector in a rural police
station. You have been working in the
same station for the past five years and
have developed a good rapport with the
local people and the administration.
However, due to a reshuffle, you are
transferred to an urban police station

(D)

=" where you have to deal with a different

set of problems and people. You feel that
this is a difficult and stressful change.
You should :

(A) accept the transfer reluctantly and
hope to get back to the rural station
soon.

accept the transfer as a part of your
career growth and prepare yourself
for the urban challenges.

seek a transfer to another rural
station where you can continue
your work and interests.

request for a cancellation of the
transfer and cite your performance
and achievements in the rural
station.
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136, T § wh wyE dehe AWM [138. Th srferrty 35 & 3, e, '
Wﬁ?{mﬁﬁmm%mﬁaﬂm D) mm@wmm

L g ST gEeAT 1 R € ST # | ,é%a%mgamﬁa%ﬁﬁﬁﬂmﬁﬁm
A JETR MR
(a) dm % = sirRer <1 Rrderdt < (A) df wEgE # AFGE @ W ¥
- wrﬁ_aﬁwmm@égmar%% | ;ﬂﬁ ﬁlmaﬁgm@r&am
(B) fagu dhs-F-HUS 0 & | RUE
‘()amsﬁtﬁwaml ® 3w w FQ F foo w5
(C) SR gE (FE) T IER B ¢ ATl H S e |
3§ Td GETER g1 =(1ET | ) &k arforprt W e ST
(D) mﬁ%@r@w&ammﬁﬁrﬁw A wem e | ,
7 oifw, e ST 3T TE T (D) ¥ TR Af-RersH 1w
| ok éﬁalw@t 1 mmimaﬁn )
e _— s a police ollcer, certain religious
A ot i cpminyon e e | St e e, S
threatening accident. You should : : p{)opedrty rights tor W{{- oweh, llgorce or
(A) strategically allocgtgl' areas of ?At)m (g’irs‘;is‘:oazg's gxliltrsi gﬁtl R s
'y ?éjaerxgltlonal responsibility among v have bee tr;, long accepted in the
: | : : : community. .
;;\ ey ‘(B) gél(l:}égg?&cz\ggr{l%n:ntgoaccomp lished (B) refer cases to fast track courts
X (C). conceal personal news until | o minis o delays. :
= - operation resolved before focusing | (©) b’ o 1stnctclawgreness campaigns
. on family. o o (D) c{t‘g ) og\%esn e;ur;l)%?;:aing unféif
B (D) entrust - deputy  with operational traditional customs. '

strategy but refain authority. , ‘ - )
s R R e L 139._-@.gf%«maﬁmﬁ$mﬁ,ﬁ‘mm
137. Wﬁa’tﬁaﬁqﬁr&mm&ﬁﬁm e A ITEad  SAITHT Y -AR H

A T, AR o e A @ | RS
(A) T AE @GN TH A | (A) T arg:ﬁ - (wenfe) H
| S geRe R R L | - frrrh 3 fore free frebrad T
@)‘msﬂmwmﬁﬁaﬁ- i @nﬁammﬁm v
St w@ % U e | o (B): dfAC S %, FAfRE W
(€) &% s freem & forg A 10 X , 2
| o @ st v @ el g w | () vt g W O S
: : ATEH S FIA T MR | | (wﬁarw%_maga‘@%m
(D) o & W AR TheR| & &9 4 % AT =T | T
Fhra w1 e i @ | (D) qRYRE WIS B Tl F 6
w1 ST =R | . - R SR R W HREA T
When investigating identity - theft and T =T | T
1r£ ersonation crimes, you should " ~ As a police officer, certain tribes
( analyze IT assets of suspects comg}ain of being wrongly deemed
- searched under warrants for tools. habitual offenders. %’ou should
(B) obtain court authority to reverse- (A) setup watchdog complaint cells to
. engineer any phishing Kits retrieved. monitor forced confessions.
(©) Egrsonally call victims pretending | - (B) enforce diversity quotas employing
' G owledge to = extract ba officers from marginalized tribes.
' information, (C) table meetings with communities to
; ;(D) setup ethical hacking traps portraying realign engagement approaches.
" as criminal buyers on dark web. (D) implement mass counselling

programs to reorient traditional beliefs.
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As a police officer, you are invoived ina

-crimin.al investigation. Which of the
following is the name of the document

-that you have to submit to the court after

completing the investigation ?
(A) Bail Application ‘
(B) - Charge Sheet

(C) Arrest Warrant

(D) ' First Information Report

q@ﬁﬁmgﬁrﬁﬂwﬁqmmm
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(D) 3" o

ﬁich aspect of community policing |

' 2
resonates you most

' i ickly and
2 onding quic !
& Ie{fi‘f’cf;ently to emergenmes
| reported bY the commumty;'t i
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SRR (2) 35 e 0 v o i
T R ofg (9

(8) < (B) WDLC.

&) o (D) ¥

Find suitable alternative in place of
question mark (?).

Russia : Moscow

: i Greece ()
" (A) Tokyo (B) W.D.C.
(C©) London (D) Athens

& Yo At F w9 6, 3o @
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“(A) depute . :
4 directly engaging represent?tw:;;?cal
B) t- make preventive arrests of rd :
= fringe elements threatening

violence. . .
C) table community mtere;:s
( harmonizing religious doctr:‘rem.zss

‘lead Jocalized aw e
) mpaigns empowering inc

ca

: es les - A TVR W".‘R’“’

llf :Y‘,ﬂ" &45‘,\.‘7_, P pov GL_4



3

%

1

)
)
©

(st

B

145.

. 146,

147,
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Choose the correct alternative from the

given that will complete the series.

1000, 759, 618, 545, 514, (?)-

(A) 504 (B) 502

(C) 507 (D) 505

@ R e w A, “ROMAN” %t
“IFDAE” % &9 & foren <iram @ | 3¢t e &
“WATER” ! & ferar wmem 2 .
In a certain code language, “ROMAN? is
written as “IFDAE”.. How would
“WATER?” be written in that code ?

A) . AEBEI (B) EIBAE
EC)) IFAEB (D) EABEI

T S o & g Y 3R 10 frrft wreran R,
Tt and e @ otk 5 Rt =@ 8, R R

T e R i 11 ferelt wreren 2, R @ e

331 8 3 1 forft e & | g == o
WA R g me e -

A) efwft . B) 16%mR

() 2 et D) 157
A person moves from home position
towards east by 10 km, then turns, right
and moves by 5 km, again turns right and
moves by 11 km, again turns right and

- moves by 5 km, again turns left and

moves by 1,km. How far that person is
from home position 9

(A) 6km | B) 16km

(€) 2km (D) 15km
Wmmﬁwwﬁ%ﬁ%ﬂlaﬁ
mﬁmg@mﬁm% |
'mﬁaﬁﬁﬁéﬁmﬁ%@m%l o
@) =@ B) = .

O =t (D) =%
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Ir} following qQuestion, some words are
given. They have Some.common featyres
except the odd

one. You are required to
find the odd one out,

© St B iy

usOUVENIR” g a'-' qzé, m’

i :Zaaﬂxma@wmmﬁ
a1l 3SR oG T B (T TR
e T T I R T R) A R

fra™ Yeg ST T THA & ?
(A) 383fE (B) 2
©) 3 (D) 1

ingful ‘English word has to be
gr;rerzleit;rr:g * 3"’g, 5™ and 8% letters of
the word (each letter to be used once
only) “SOUVENIR”, then how many
such words can be formed ?

(A) morethan3 (B) 2
€ 3 D) 1

149, T gt QUET (noon) ¥ THY & A A R |
5 Tt 20 e W, si%ﬁqés;qgaﬁmi

A clock is started at noon. By 20 minutes

past 5, the hour hand has turned through
(A) 160° (B) 150°
&) 155° (D) 145°

150, 319 =t &, 71 % veider T ok Ywr # |
@, e oA R, R s P
T ST @R w0 | IRER % qigar -
3 AT § | ot ok i Y W =) 3
A N CE IR TH 3 7= § | forew e

ﬁa%aﬁawﬂm%?
(4) e B) ¥
(©) Wi (D) I=a

Among her children, Ganga's favourites
are Ram and Rekha. Rekha is the mother
of Sharad, who is loved most by his
uncle Mithun. The head of the family is
Ram Lal, who is succeeded by his sons
Gopal and Mohan, Gopal and Ganga'
" have been married for 35 years and haye

3 children. How is Mithun related to
Mohan ? :

(A) Nephew (B) Son

(D) Deck
ClL AT PIINTEYVL Oy

"N Ly ——
ATV Sty FONPIVTATI TR e

ENTIVR CoN POy CAON P,

: (C) Brother (D) Uncle
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